Rezultati tihih vaj OPTICNE KOMUNIKACIJE

Priimek in ime 1l.vaja 2.vaja 3.vaja Vsota |Ocena
6.3.2014 27.3.2014 17.04.2014

1 |Aceski Sotir 5 7 2 14 22%
2 |Atanasovska Maja 8 7 6 21 52%
3 |Burger Gregor 7 7 6 20 48%
4 |Cerar Gregor 8 9 6 23 61%
5 |Cegovnik Tomaz 12 9 7 28 83%
6 |CucCnik Grega 7 6 4 17 35%
7 |Janc Jure 9 8 6 23 61%
8 |Leben BosStjan 7 5 6 18 39%
9 |Markun Tomaz 7 8 4 19 43%
10 |Meden Rok 12 7 7 26 74%
11 Menegatti 0zbolt 4 - - 4 0%
12 Mmihelj Jernej 8 8 5 21 52%
13 MiTicC Jernej 9 10 4 23 61%
14 Milojevic Nikola 5 11 7 23 61%
15 |Mrak Sebastijan 11 8 9 28 83%
16 |Perovsek Marko 8 7 7 22 57%
17 |Rakef Gregor 7 7 6 20 48%
18 |Saje Tadeja 5 4 4 13 17%
19 |Sorta Jernej 11 10 11 32 100%
20 |stolnik Rok 8 10 6 24 65%
21 |Strmole Jure 9 10 7 26 74%
22 |Sekuljica Darko 9 10 6 25 70%
23 |Urh Primoz 12 9 6 27 78%
24 |\vidic Jan 7 10 8 25 70%
25 |vizjak Blaz 8 7 7 22 57%
26 |Zupanic Peter 10 8 6 24 65%
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